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𝑈𝑒 = 𝐵 ∙ 𝐿 ∙ 𝑣
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d [mm] t [mm] Ah [mm2] Ap [mm2] t/d Ah/Ap 

3 10 7,07 804,23 3,33 0,009 

4,5 10 15,90 804,23 2,22 0,020 

6 10 28,27 804,23 1,67 0,035 
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dp μ ρp



τ  

6

St d [mm] o  [m/s]   [Hz] τ   [μs] 

0,2 4.5 26.7 1188 842 

𝜏p

dp [μm] 𝝆p [g/cm3] μ [Pa∙s] τ𝒑  [μs] 

20 1.19 10-3 26 
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FORO d=4.5mm 

f [Hz] Q [l/s] ∆p [bar] Vp [m/s] Vh [m/s] σ Re αvalvola 

40 0,321 2,7 0,40 20,18 1,76 90827 76.5° 

35 0,321 3,4 0,40 20,18 0,78 90827 63° 

35 0,321 3,9 0,40 20,18 0,54 90827 0° 

        

47 0,361 3,5 0,45 22,70 1,82 102145 76.5° 

40 0,361 4,6 0,45 22,70 0,73 102145 67.5° 

40 0,361 5,1 0,45 22,70 0,54 102145 63° 

40 0,361 5,4 0,45 22,70 0,42 102145 0° 

        

17,5 0,180 1,20 0,22 11,32 1,55 50931 0° 

27,5 0,255 2,60 0,32 16,03 0,77 72152 0° 

45 0,387 6,60 0,48 24,33 0,33 109502 0° 

FORO d=3mm 

f [Hz] Q [l/s] ∆p [bar] Vp [m/s] Vh [m/s] σ Re αvalvola 

17,5 0,082 1,2 0,10 11,60 1,47 34803 0° 

30 0,126 3,2 0,16 17,83 0,62 53478 0° 

45 0,176 6,7 0,22 24,90 0,32 74699 0° 

FORO d=6mm 

f [Hz] Q [l/s] ∆p [bar] Vp [m/s] Vh [m/s] σ Re αvalvola 

17,5 0,290 1,00 0,36 10,26 1,88 61542 0° 

30 0,440 2,70 0,55 15,56 0,82 93374 0° 

55 0,720 8,40 0,90 25,47 0,31 152793 0° 

d [mm]  

3 1,293 

4.5 1,014 

6 0,853 



 
𝛼

2(𝑃1 − 𝑃2)

ρ ℎ

 = 2 (1 −
1

𝛼
− ) + 

1

𝛼2
 +  (

𝐴ℎ

𝐴𝑝
)

2

𝛼

𝜎

𝜎

𝛼

𝜎

𝜎

𝜎





𝜎

𝛼

𝜶

𝝈

𝜎

𝜎 ≃ 0.8



 

𝛼

FORO d=4.5mm 

σ Re KLA KLp KLh KLh/KLA 

1,76 90827 1,33 3390 1,33 1,00 

0,78 90827 1,33 4268 1,67 1,26 

0,54 90827 1,33 4896 1,91 1,44 

      

1,82 102145 1,36 3474 1,36 1,00 

0,73 102145 1,36 4566 1,79 1,31 

0,54 102145 1,36 5062 1,98 1,46 

0,42 102145 1,36 5360 2,10 1,54 

      

1,55 50931 1,87 4791 1,87 1,00 

0,77 72152 1,87 5172 2,02 1,08 

0,33 109502 1,87 5701 2,23 1,19 

FORO d=3mm 

σ Re KLA KLp KLh KLh/KLA 

1,47 34803 1,78 23086 1,78 1,00 

0,62 53478 1,78 26074 2,01 1,13 

0,32 74699 1,78 27980 2,16 1,21 

FORO d=6mm 

σ Re KLA KLp KLh KLh/KLA 

1,88 61542 1,90 1538 1,90 1,00 

0,82 93374 1,90 1804 2,23 1,17 

0,31 152793 1,90 2096 2,59 1,36 



𝜎



𝜎  



𝛼

𝛼

𝜎



𝛼

𝜎

 

FORO d=4.5mm 

f [Hz] Q [l/s] ∆p [bar] Vp [m/s] Vh [m/s] σ Re αvalvola 

40 0,321 2,7 0,40 20,18 1,76 90827 76.5° 

35 0,321 3,4 0,40 20,18 0,78 90827 63° 

35 0,321 3,9 0,40 20,18 0,54 90827 0° 



Magnificazione  
Dimensione pixel 

[mm] 
F-stop 

∆t 
[μs] 

Potenza laser 
[%] 

Trigger rate 
[Hz] 

0,15 0,005 2 - 2,8 35 95 7 
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